Intervention Logic - Chain of results
Explain to what impact the EU intervention should lead to.

Impact is the long term result of the EU intervention expected to be
achieved in the social, economic and environmental global context and
involving other stakeholders interventions. Impacts are in the sphere of]
indirect influence of the EU intervention (contribution)

Overall Objective /
Impact

Impact 1:
Impact 2:
etc.

Indicators

Impact indicators measure the extent
to which outcomes change social,
economic and/or environmental

conditions

To be disaggregated by sex (W/M/G/B)

where possible

Baseline

Assessment of the 'point of
departure' level

Current value

The value of the indicator
at the indicated date (it
could be daily, weekly,

monthly, quarterly, yearly,

for the mid-term report or
the final report)

Targets

Expected 'point of arrival'
level

Sources and means of verification

Explain how and when the

information to feed the indicators is

collected and by who

Assumptions

Explain what outcome the EU intervention should produce.

Outcome (OC) is the medium term result of an EU intervention
materialised by a change in behaviour from individuals and/or
organisations. Other external factors and players could also influence this
behavioural change.

Outcomes are in the sphere of direct influence of the intervention
(contribution)

Specific Objective /
Outcome

Outcome 1:
Outcome 2:
etc.

Outcome indicators measure the extent
to which outputs produce, create, lead
to the expected behavioural changes
from individuals and/or organisations

To be disaggregated by sex (W/M/G/B)

where possible

Assessment of the behaviours
before the launch of the EU
intervention

The value of the indicator
at the indicated date (it
could be daily, weekly,

monthly, quarterly, yearly,

for the mid-term report or
the final report)

Assessment of the
behaviours at the end of
the EU intervention

Explain how and when the

information to feed the indicators is

collected and by who

What are the external factors and
risks outside the EU intervention
control that may impact on the
outcome-impact linkage

List what outputs the EU intervention should produce.

Output (OP) is the direct product of activities, produced or accomplished

with the resources allocated to the EU intervention.

(o[ [Ty B Mo TV Outputs are in the sphere of control of the EU intervention (attribution)
Output

Output 1.1. (related to Outcome 1)

Output 1.2. (related to Outcome 1)

Output 2.1. (related to Outcome 2)

etc.

Output indicators measure the quantity
and/or quality of outputs produces by

activities

To be disaggregated by sex (W/M/G/B)

Zero for outputs produced by
new activities
or
total number of outputs
produced by past activities

A qualitative assessment
could also be done

The value of the indicator
at the indicated date (it
could be daily, weekly,

monthly, quarterly, yearly,

for the mid-term report or
the final report)

Total number of outputs
produced

A qualitative assessment
could also be done

Explain how and when the

information to feed the indicators is

collected and by who

What are the external factors and
risks outside the Project Manager
(or Implementing Partner) control
that may impact on the output-
outcome linkage




